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Exam Review- Honors
Turn in for extra credit points due the day of your exam

Lewis Structures, Molecular Geometry, Hybridization ch 6

1. Draw the Lewis Structures for the following, be able to determine the geometry, bond
angle and hybridization
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2. Calculate Empirical and molecular formula and percent composition
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Oxidation numbers
Assign oxidation numbers to each of the atoms in the following

compounds:

Na,CrO4 Na = Q= Cr =
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Naming lonic and Covalent Compounds

lonic compounds are made up of W\QJ{’(K\ and ﬂ,DY\/”\C\T*’QThey é?"',mh%(f(ek

electrons.

Covalent compounds are made up of at least two ﬂov\md‘a«(l . They 9\«1\,(_ their

electrons

1)  NaBr Soé»vm (Q(DYYVIJ\J

2) CaO Cal pwm ATy

3) LS o ' ;w\&ob

4)  MgBrz asmnesi /v WW\AOU
5)  Be(OH): w(%muw\ Y%dex

6.) FeCls = i

Write the formulas for the following ionic compounds:

6) potassium iodide Kt

7)  magnesium oxide mC‘\ O

8) aluminum chloride ﬂ/\ﬂ %

9)  sodium nitrate N &NOS
10)  calcium carbonate CC‘ C®3

Write the names of the following covalent compounds: (£ @W)

11)  SOs Q\)\W %’HO\UM

12)  NiS f)mmw Sulbdy

13)  PHa Dhos/o\f\em< —\ﬂ\f\w)\nAJ
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15)  PsBrs AW‘DVLR‘PV\DWQ %W\OWNOU

16) nitrogen trichloride N u 5




17)  boron carbide f&(
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18) dinitrogen trioxide N7 D?

-
19) phosphorus pentafluoride ? F_S

Balancing and Type of Reaction —Balance and tell the type of reaction for each equation
1)‘LN2+;_H2->;NH3 %M

2) & KCOs> A KA+D 0 Meox\};mf
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Activity Series

4. Predicting the products of single re_g_lacement reactions using the Activity series

a.5Li+ Fe(NOs)s -> 3 La NO 3 i
b AutHe-s. OB N
c. CIZQKBr—> P\;rq, ‘H.K()

d. Cu+AI(NOs)s>_ N0 TXNL




Stoichiometry

5. Using the following equation: 2 NaOH + H,SO4 -> 2 H,0 + Na,SO4
How many grams of sodium sulfate will be formed if you start with 200.

gramaof sodium {Iydroxide and you have an excisbs of sulfuric ?lzzld?i) ‘O
bog NaOH y ol o V' Nogfby o 112 Q’E::gl
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6. 2CeH10+170,->12C0O,+10H,0

lmol L G MRl oy
3t§.oj CH v ‘&‘L\L,\jx 5 o o v

If | do this reaction with 35.0 grams of C¢H10 and 45.0 grams of oxygen, how many grams of carbon
. 1 y.ol
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dioxide will be formed?
What is the limiting reagent for problem 6? fé ) % \’R %u:l‘s o»g-

How much of the excess reagent is left over after the reaction from problem 6 is finished?
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If 35.0 grams of carbon dioxide are actually formed from the reaction in problem 6, what is the percent
yield of this reaction?
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7. Combined Gas Law —Boyle’s, Charles’ and Gay Lussac’s Laws ( T must be in Kelvin;
other units must just be the same on both sides of the equation)

A gas with a volume of 4.0L at a pressure of 205kPa is allowed to expand to a volume of 12.0L.
What is the pressure in the container if the temperature remains constant?

(20%W%%\O%OL) P ) (12.0L)
Pas 8.2 W |

A gas balloon has a volume of 106.0 liters when the temperature is 45.0 °C and the pressure is
740.0 mm of mercury. What will 1ts volume be at 20.0 °C and 780 .0 mm of meu)ury pressure?

(Fu0.0 ka\v\ L%D@j Vo
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8. ldeal GasLaw ? \{ = 'A QT P ,530\0\ O—/)Wn

a. Ifl have 72 liters of gas held at a pressure of 344.4kPa and a temperature of 225 K, how
many moles of gas do | have? \o\. o\.35"

(3.29a) (2 ~OX7,D (225%.)

b. 22.00 g of CO; has a vol and-a-pre
temperatureofthegas?“‘-‘"\’()\- MQQW ——-IDOO
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:‘ c. Ifthe gaspresentin 5.64 L at STP is changed to a température of 18 °C and a pressure of

I\)?\O;Tchajr 787 Torr, whativ%ﬂ-(t.):ct;e-\n_t;:\flgmce?g\ (oq L> qu W() (/’\/>
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a. Blast furnaces give off many unpleasant and unhealthy gases.

€ total air pressure is
0.99 atm, the partial pressure of carbon dioxide is 0.05 atm, and the partial pressure of
hydrogen sulfide is 0.02 atm, what is the partlal pressureﬁf m; remaining air?

O(/\C\'“ 006 T OO?/ (TPa,«r
P = 0.9 atmn
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11..Stoichiometry of Gases
a. Ethylene burns in oxygen to form carbon dioxide and water vapor:

C2Hy(g) + 3 O2g) > 2 CO2(g) + 2 H20(g)

How many liters\of water can be formed if 1.25 liters of ethylene are consumed in
this reaction?

b. 2 CsHis(l) +25 Ox(g) ---
The above reaction is the reaction betwee
occurs inside automobile engines.
If 4.00 moles of gasoline are burned, what vo
pressure is 0.953 atm, and the temperature is 35.

16 CO2(g) + 18 H2O(g)
asoline (octane) and oxygen that

e of oxygen is needed if the
PC?

Molarity W\ i Yﬁg\s

1. Calculate the number of moles of KCIO3 which would be needed to prepare 20.0 mL of

a0.010 M solution. OO[O(\/\: IY\OUQ l moU%ZO\OOOQO
090 L

2. Calculate the number of grams of sucrose, molar mass 342 g/mol, needed to prepare
10. O L of a 0.50 M solution. {1710 g}
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3. Calculate the molarity of a solutlon in which there are 34.2 g sucrose dissolved in Og

enough water to make 6.0 Litres of solution. {0.017 M}
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Organic Chemistry

1. Identify the functional groups on the following organic molecules.
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Organic Chemistry - Naming Worksheet

1. Name the following organic compounds. Circle the functional group if one is present.
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